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Q1) The torques shown are exerted on pulleys B, C, and D. Knowing that the entire shaft is
made of aluminum (G = 27 GPa), determine

a) The max shear stress in the system - = ;
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b) the angle of twist D with respect fo B. /"1”__1 Nem

PR @

31: wwz ;?5"},‘..\’ mu
; 1
e g e B

7‘13 Yoo N m @
s Y
Tee BUBL . g4 a9

,///—\—/..
O,

36 mn

P T o koo () WTSu0M

—

7935

Tz > . Seoll) 8 ST

_—--__-—-—"—F

X n 16 841 .1

/,- /,/—d/
@ T A )l (82, orga

Qi

G 3, (th/(}?ytlj}
Ds 2 (it M’J (lw—- Sodllv [w
e ©4 (27 ua’) (lél,&'[\'.‘?J

olyq - ollt = 0.6344 /.”37 O




Q2) Draw the shear force, and the Bending Moment Diagrams for the following Beam.

(20 pts.)

ré r'«(\g

8 kN/m , 8 kN/m -
£1£II], TR ETEEER v

Zk’rdm (Ptj)(.\’) + (tajly - Iﬁg.& (161 ) = o i(gj 6, fj
Qs 2y )

“—

24 |

v

-16'




Q3) using the given beam and cross section, determine

1) The max tensile stress in the section at support B,
2) The max compressive stress in the section between AB
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Q4) For the beam and loading shown, determine (a) the equation of the elastic curve for portion
BC of the beam, (b) the slope at B
El = 4000 kN.m?2
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